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Either gain a grape (outline it) and a bonus
OR use the sum of 1 die and the value of
at least 1 gained grape (cross it off) to
mark a wine order equal to or less than
that sum, overpaying as little as possible.
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Score 2 W's per marked wine order.
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Either gain a grape (outline it) and a bonus
OR use the sum of 1 die and the value of
at least 1 gained grape (cross it off) to
mark a wine order equal to or less than
that sum, overpaying as little as possible.

X

vy

Score 2 W's per marked wine order.
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Either gain a grape (outline it) and a bonus
OR use the sum of 1 die and the value of
at least 1 gained grape (cross it off) to
mark a wine order equal to or less than
that sum, overpaying as little as possible.

X

v v

Score 2 W's per marked wine order.
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Either gain a grape (outline it) and a bonus
OR use the sum of 1 die and the value of
at least 1 gained grape (cross it off) to
mark a wine order equal to or less than
that sum, overpaying as little as possible.

Y

Score 2 W's per marked wine order.
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Either gain a grape (outline it) and a bonus
OR use the sum of 1 die and the value of
at least 1 gained grape (cross it off) to
mark a wine order equal to or less than
that sum, overpaying as little as possible.

X

vy

Score 2 W's per marked wine order.
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Either gain a grape (outline it) and a bonus
OR use the sum of 1 die and the value of
at least 1 gained grape (cross it off) to
mark a wine order equal to or less than
that sum, overpaying as little as possible.

X

v

Score 2 W's per marked wine order.
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Either gain a grape (outline it) and a bonus

£

at least 1 gained grape (cross it off) to

OR use the sum of 1 die and the value of
mark a wine order equal to or less than
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Score 2 W's per marked wine order.
Either gain a grape (outline it) and a b
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at least 1 gained grape (cross it off) to

OR use the sum of 1 die and the value of
mark a wine order equal to or less than

J

Score 2 Ws per marked wine order.

T T T T T O

\—

Fresh copy? automafactory.com/rr-youtoma (version 1.56)

Rolling Realms | Youtoma



